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(&8 whpb mde aufl /T .
[ Qurgs LALQUETs: . 7

S Biema : 3.00 waef) Cpyid | [Maximum Marks : 79

Time Allowed : 3.00 Hours ]
. dremgi STETLISEEN &l Liniigg)s
SDleyenrast : (1) Simansg edlanmésend sflwrs] Ué'ﬁ‘;”_rr lﬁ;‘ SONE 5Gﬁﬁ5nmﬂuu"m§?‘z
Qarétenayib. SigaiLfedd G@PIIGHE
o L anigwnss Cgflelésab. ) n:
@ B oows seoy @0EOS '-fb&@ffm;%imim@
219 6Camg HeousH@n LwaTLHSS Gauem (B TeEn®
Quendled LweTIHSSLD. |
Instructions : (1) Check the question paper for fairess of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately. _
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

Ggeveuwrar @LSFe) LLLD eueIhgl, FOAUTHEMET 6T(LHSELD.

GOy :

Note : Draw diagrams and write equations wherever necessary.

L@ -1/ PART - 1

GOy : (1) el edlammés@psEn el weallssayn, 15x1=15
() Qsr@ésiul(Harer g,nfirr@) LIOD oL safie Hsan gHLL
doLous CoitdsBss GALOLG o @emayn Csiss
TpSQLD. .
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the oj,, ] ,
the option code and corresponding answer, gven four alternatives and write
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(<=1) a-OCarm csllﬂ@m&mﬂm
QoI

(<) LTAQtDL® BF
M@@ww
(/) BirQeumisEio @@L-"S@gd‘r

otein refers to

FHlenEWITE 6uFenLOLIL|

The secondary structure of a Pr

(a) sequence of a-amino acids
(b)  fixed configuration of the POIYPEPﬁde backbone
(c)  a-helical backbone

(d) hydrophobic interaction

@pLred siflossea odoaylibg wepsar Bip eartani Curan Hiosmss

el
(1) N-Qugdled sjafleien W(ﬁw Quetnen

(@) N,N-evLQusdler sierfleSen (Frl) 9| aofl eSenr

The compound that reacts with nitrous acid to give yellow oily liquid is

(a) N-methylaniline _ (b) Nitro benzene

(c) N,N-dimethyl aniline (d) Aniline

ClomggLons 9650 sagmbdsar Bl 1_sens QubmeTer credL Trenseticn eramanflEoms ;

022 %1022
{ayg/ (<) 6.22x 102 (@) 6.022x1073% () 6.022x10%

The number of electrons that haye , total charge of 9650 coulombs is :

(@) 6.022x102  (b) |
22x1023 (c) 6.022x1073% (d) 6.022x10%
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b 2oL TH DT 19.6) ET@TILQ

SoLJ@Hen L eulgeuablianLil Quipmerer grofd s 2
Ca* wpmib F- swelsallen ojemara eramseT Ul

. : it B
(28 wpmo 4 4 HH 2 4 opl

om (<) 4 oo (&) dination number of Ca?* jon 414

(FF) 6 LOHMID 6

In calcium fluoride, having the flurite structure, the coor

F~ ion are: 3y oan
and 6
(@) 8and4 (b) 4and?2 () 4 and 8 (

G @O ePLdLL Cprédla o

H,0, flegaueLpgl O, -eag s ellene pilen 2 Haurgd Caustp :

&8 48 g O, 2(peuranmed @Ml Cpros®

-1
(=) 2. ol min~! () 0.75 mol mun
L1
3.0 mol min~! (/) 1.5 mol min
During the decomposition of H,0, to give dioxygen, 48 g O2 18 formed per minute at certain

point of time. The rate of formation of water at this point is -

(a) 225 mol min~! (b) 0.75 mol min 1

(¢) 3.0 mol min~! (d) 1.5 mol min~!

[P{NO,)(H,0)(NHS,),]Br ereip ienameiiled epLows 2 Cors Sywallufer 2 &8aGanm

GTGHIT GT GuTEwT ?
(1) +4 \e}){ (&) +é6 (/) +3

What is the oxidation number of the central metal ion in the complex,

[PH(NO,)(H,0)(NH,),]Br ?

(a) +4 (b) +2 © +6 @ +5
19l etTeu(Th DMIET TSl aedleno 0&ES Sjdlend ?

(o) A-apl Crmienme (<) 2-aBLCrmSenmey

@) >wpGrmSere (%) LeBeiCriams

Which one of the following is the Strongest acid ?

(a) 4-nitrophenol (b)  2-nitrophenol

() 3-nitrophenol (d) 4“Ch10r0phenol

[ Hliys / Tum over
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spip) &Cern m@ad Srigaib Sueplaldar Geariy Qeray
aypps> P
smpewrd :  @Germfla@mad) Sjenilemans sl oifs aoslyrdn dwis

Sersulenar AUDDITETS.
(=) Fammy s oy e GyewTd SO
(<2) Sy oD SyewDd @TETOLD &fl, Guogib sryemroneng) sapPineE sfwren
eflerg g0 L.
@) samml wHYLDL SMTETD Granhio seum.
() @nbm) wHpb smyewid Gr@mHLD &, e snewTONENS) FamMInE &iflwren

eflen&&EIneve.
Assertion : Bond dissociation energy of Fluorine is greater than Chlorine gas.
Reason : Chlorine has more electronic repulsion than Fluorine.

(a) Assertion is true but Reason is false.
(b) Both Assertion and Reason are true and Reason is the correct explanation of Assertion.
(c) Both Assertion and Reason are false.

(d) Both Assertion and Reason are true but Reason is not the correct explanation of

Assertion. '

Curfls sflen em flawrEh. goaealld g ppassan :

(@) YGrmiLreyL e Qaamig) Bt epsamdlaad SmEADS.

(<) @LyCuwisd e b sarmouemw HY owalows Qsrarderers.
mmmﬂaﬂ@ﬁ@ OH"~ wiwellenw grpmé Qaran® YCyTLLrevans smas.
() YCrmliLreas sredag.

Boric acid is an acid because its molecule :

(a) combines with proton to form water molecule.

(b) contains replaceable H* jon,

(c) accepts OH™ from water, releasing proton.

(d) gives up a proton.,
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10. CH;Br Hal (A) H;0* 5 (B)-_pQS__,(C)
eflenaris Qumper (C) eremmLig
(1) EGemmCrm 218146 feid
,\WGWK@W swGenm erdgsenmuils <ybleld
Sl e GCarreny(®

(FF) Qeundled ggfidene

CHyBr XN, (o) HO" , (g _PCI5 | ¢y
Product (C) is

(a) chloro acetic acid

(b) a-chlorocyano ethanoic acid

(c) acetylchloride

(d) none of these

11.  Adeurt HmID shsn INGASHEEH peapLTas) FLDETEDLE Qasrre;&ur@ (PeyBanaD
2 arergdlwg. @buweanuid Wenar Haeur WerL QupliuBge :
§&8BIEsgIL 6 2 Cors @LUAUWITES elener
(<=1 urenew Gllg &S
(@) Brwwrése
(FF) Yoo Iienowrdse
Extraction of gold and silver involves leaching with cyanide ion. Silver is later recovered by :
(a) Displacement with Zinc
(b) Distillation
(c) Liquation
(d) Zone refining

“
o A

Hiflesr e Quepss wrdled K, -ger iy 25°C Qmuu;ﬁ]e&muﬁ]m 100>~:10”14

12.

crafle. 40°C Qautiufleeuds sigear wHOY . o

(1) 1.00x 1071 (<) 1.14X10715 r

T -15 " 4

(@) 2.71x107 1 (/F) 2.95%10 7

At 25°C, ionic product constant K, of water is 1.00X 10~ 14, g value at 40°Cis

(a) 1.00x1014 () 1.14x10-15

© 271x107" (d 295%107%

. over
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13, : : ; Gy :
1 Gorey Qi _r@lwd @O an GCuraseaflanr erameanlisens ?

& . D c91(3[1-1“'“}'
; e (p Qmaﬂ@ww,@l}] (@) 4 () 2
2 3 (%berate dwhenl mole of potassium dichromate react with potassium
W many moles of I, are X
iOdide ?
@ 3 o 1 (c) 4 d 2

4. Qurgeurs, grr se0U® rsArmseiian GCopuride uouy geou Gerag).

Sps LoLgulen @pepULt aie :( R C5a

(21) GCermCrrraen . 2b) TS S ' o

(@)L x1,2,2-QLr_greoLy@BCr s GCHE (/) yru-2-remenBbLenyed
6n-stick cookwares generally have a coating of a polymer, whose monomer is :

(@) chloroethene (b) ethane
()  1,1,2,2-tetrafluoroethane (d) prop-2-enenitrile

15. Wayesdéd eabsiulGera @0 salpwBlened ewlbe o drer gsarser
erflmflenupenenens Cprés) H&(HE T ET. 2iGg sapwésarsden fifigd fapaurag
(i) K,SO,, (ii) NayPO,, (iii) K,[Fe(CN)¢] wpmb (iv) NaCl gélwapeons Caram®
<liiey wiu@ddamg. seupiler eSpugerEd Hpen ’

<24 i) > (i) > (i) > (iv) (<) () > (i) > (iii) > (iv)

) (i) > (i) > (iv) > (i) () Qoupdléd ergiaflderas

In an electrical field, the particles of a Colloidal system move towards cathode. The

coagulation of the same sol is studied using (i) K,SO,, (ii) Na;PO,, (iii) K,[Fe(CN)4] and

(iv) NaCl. Their coagulating power should be :

(@) (i) > (i) > () > (iv) b) () > (@) > (i) > (v)

(© (i) > (D) > (iv) > (iii) (d) None of these

' U@d - 11/ PART - 11
Gmloy : sTemeuGuenid oy flanméseméeE efenwefll&Esa|b. clenm erewr 24 -&®
SL_L_MULONS oflenL_wallsaayid, 6x2=12
Note : Answer any six questions, Question No. 24 is compulsory.

16. qUMDE FHPEEDT S iG55 ey BpUL GOD TOHDS 7 ABFDEL
STHEEEHEHES ¢ GT@,&:@&&;WL‘_@ 5(53.
Which type of ores can be cOncentrated by froth floatation method ? Give an example for ores.

17. PCls -g @aulutu@sg Gung

0 ?
What happens when P(] ,@85%9611@ -

51s heated ?
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Q"G&W@ﬂmm m;])mlm @IDNL]GU“UJI.D @g,g,ﬁj Ugﬁa[ug,mﬁlu @Umfﬂ'mmm eyem 7

Why do Zirconium and Hafnium exhibit similar properties ?

s@rHpen Qupssd — U TWIMIGEELD.
Define Solubility Product.

FOT SLEFEHDeT — cuerLmEseyD.
Define Equivalent Conductance.

Spug e smPWE sHTFONSE wIppeusHETs sMpowrésl Cerssliupips.
Qésapeom rOHZIEHT_Hian e @s.

Peptising agent is added to convert precipitate into colloidal solution. Explain this statement
with an example.

ETLLAOTET - &of clenanens er(ps)s.
Write Gattermann - Koch reaction.

®HSHIL GUrGLSET ereueuny cuaslLBssLLGSdamer ?
How are drugs classified ?

Geeumd eflenanaefier eflenan efenars QurpLser X wHmb Y -eowsé samLhs.

OH

n w A2n0 RW
ZTn(Cb“ C&H‘o | *\_\9/0
T Qe

\4
NH;, A Y (W ™9 A\190 G(o _ 9
frop v
ZI'IC12

Find the products X and Y in the following reactions.

OH

Zn
—PA X

NH;,, A

——————
anhydrous
ZnCl,

Y

[ Hmoys / Turn over
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3. BOISS ULy e eranan ? @ran® ardsssET 05 SO

What is Condensation Polymer ? Give two examples.

32. 2 Wfemiugeafldr ellAG@aNen gGsed epany Qaweurhseer GHNIGGs.

Mention any three functions of lipids in living organism.

33. @@ Wse aums cldmenler efameaiGeus Lomhled 154x10~2 s™1. B Jj@OT eump
srasslener sHemhls. IrsSNS

The rate constant for a first order reaction is 1.54x10~3 s~ 1. Calculate its half life time.

U@ - IV/PART - IV
G&OILY : Semensg efamsaEns@h e weflésal. 5x5=25
Note : Answer all the questions.
34. (=) () YWeraumd QFwdp@psaie Qarpssrul_Hereraupblen LIWeTLITLqene
eNleuifl&a.
1) eedaiub 955Gz HarGuramaL
2) AiCaralusan Bgniewwrssaie oGuwmsen
(i) Capwgmer QL& Gemorsaeflen G‘GQ}@)!L'[)‘@G%TQ] LIGRTL &S nlis.
V0|
() (i) GurCrl e mlieou ereueunm) gaLHleumis ?
di) Cumpréeay -6 WSS SMHS.
(a) (i) Describe the role of the following in the process mentioned.
(1) Cryolite in the extraction of Aluminium.
(2) lodine in the refining of Zirconium.
(i) State any three properties of inter halogen compounds.

OR
(b) () How will you identify borate radical ?

(i) Give the uses of Borax.

[ Hmiys / Turn over
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